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BOOKS - RD SHARMA MATHS (ENGLISH)

SURFACE AREA AND VOLUME OF A
CUBOID AND CUBE

1. A match box measures 4cmz2. 5emazxl. bem:
What will be the volume of a packet containing 12

such boxes?


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8losx241V3tl

° Watch Video Solution

2. The paint in a certain container is sufficient to
paint on area equal to 9. 375m?. How many bricks
of dimension 22.5cmx10cmz7. 5¢cm can be

painted out of this container?

° Watch Video Solution

3. Length of a class-room is two times its height
1
and its breadth is 15 times its height. The cost of

white-washing the walls at the rate of


https://dl.doubtnut.com/l/_8losx241V3tl
https://dl.doubtnut.com/l/_h40eACBskvd0
https://dl.doubtnut.com/l/_b6pibbOcDnzR

Rs.1.60perm® is Rs.179.20. Find the cost of

tiling the floor at the rate of Rs.6.75perm?.

° Watch Video Solution

4. A cuboid has total surface area of 40m? and its
lateral surface area is 26m? . Find the area of its

base.

° Watch Video Solution

5. The cost of preparing the walls of room 12m

long at the rate of Rs. 1.35 per square metre is RS.


https://dl.doubtnut.com/l/_b6pibbOcDnzR
https://dl.doubtnut.com/l/_B0Dzv12KVKFX
https://dl.doubtnut.com/l/_Rkv2skkBtCrC

340.20 and the cost of matting the floor at 85
paise per square metre is Rs. 91.80. Find the height

of the room.

° Watch Video Solution

6. Ravish wanted to make a temporary shelter for
his car by making a box-ike structure with
tarpaulin that covers all the four sides and the top
of the car (with the front face as a flap which can
be rolled up). Assuming that the stitching margins

are very small, and therefore negligible, how much


https://dl.doubtnut.com/l/_Rkv2skkBtCrC
https://dl.doubtnut.com/l/_DbSbyVSoX8qz

tarpaulin would be required to make the shelter of

height 2. 5m with base dimensions 4mx3m?

° Watch Video Solution

7. A wooden bookshelf has external dimensions as
follows:

Height = 110cm, Depth = 25cm, Breadth = 85cm
(See Figure). The thickness of the plank is 5em
everywhere. The external faces are to be polished
and the inner face are to be painted. If the rate of

polishing is 20paisepercm® and if the rate of


https://dl.doubtnut.com/l/_DbSbyVSoX8qz
https://dl.doubtnut.com/l/_9UYGZK1UFeXQ

painting is 10paisepercm?®. Find total cost of

expenses.

° Watch Video Solution

8. The length and bredth of a hall are in the ratio
4:3 and its height is 5. bmetres. The cost of
decorating its walls (including doors and
windows) at Rs.6.60persquaremetre is Rs.5082.

Find the length and breadth of the room.

0 Watch Video Solution



https://dl.doubtnut.com/l/_9UYGZK1UFeXQ
https://dl.doubtnut.com/l/_oC6MF5ebup2F

9. A cubical box has each edge 10cm and another
cuboidal box is 12. 5em long. 10cm wide and 8cm

height, find difference in their lateral surface area.

° Watch Video Solution

10. The dimensions of a cuboid are in the ratio of
1:2:3: and its total surface area is 88m?2. Find

the dimensions.

° Watch Video Solution



https://dl.doubtnut.com/l/_QP9dq7UDadIh
https://dl.doubtnut.com/l/_zTrlRPszybCA

11. Find the surface area of a chalk box whose
length, breadth and height are

16cm, 8cm, and, 6cm, respectively.

° Watch Video Solution

12. A swimming pool is 20m in length, 15m in
breadth, and 4m in depth. Find the cost of
cementing its floor and walls at the rate of Rs.

12per square metre.

O Watch Video Solution



https://dl.doubtnut.com/l/_E6N0eNnEgWD0
https://dl.doubtnut.com/l/_QtLNBTl8z86B
https://dl.doubtnut.com/l/_9z5NkTTCIHFJ

13. A cuboidal oil tin is 30cm*40cm * 50cm . Find
the cost of the tin required for making 20 such
tins if the cost of tin sheet is Rs.20 per square

metre.

o Watch Video Solution

14. A plastic box 1. 5m long, 1.25m wide and
56cm deep is to be made. It is to be open at the
top. Ignoring the thickness of the plastic sheet,
determine: The area of the sheet required for
making the box. The cost of sheet for it, if a sheet

measuring 1m? costs Rs.20.


https://dl.doubtnut.com/l/_9z5NkTTCIHFJ
https://dl.doubtnut.com/l/_ngro57NT8i7o

° Watch Video Solution

15. Three cubes each of side 5¢m are joined end to

end. Find the surface area of the resulting cuboid.

° Watch Video Solution

16. A godown measures 40mx25mx10m . Find the
maximum number of wooden crates each
measuring 1. 5mx1. 25mx0. bm that can be

stored in the godown.

° Watch Video Solution



https://dl.doubtnut.com/l/_ngro57NT8i7o
https://dl.doubtnut.com/l/_ZH1PW4ta1ez3
https://dl.doubtnut.com/l/_Tp5Uh3NS5dRc

17. A child playing with building blocks, which are
of the shape of the cubes, has build a structure. If
the edge of each cube is 3cm, find the volume of

the structure built by the child.

° Watch Video Solution

18. The capacity of a cuboidal tank is 50, 000litres.
Find the breadth of the tank if its length and

depth are respectively 2. 5ecmand10m.

° Watch Video Solution



https://dl.doubtnut.com/l/_Tp5Uh3NS5dRc
https://dl.doubtnut.com/l/_ky2POusMgp3i
https://dl.doubtnut.com/l/_FghqLjqhiqFG

19. A rectangular container, whose base is a square
of side 5cm, stands on a horizontal table, and
holds water upto 1cm from the top. When a cube
is placed in the water it is completely submerged,
the water rises to the top and 2 cubic cm of water
overflows. Calculate the volume of the cube and

also the length of its edge.

° Watch Video Solution

20. A box with lid is made of 2cm thick wood. Its

external length, breadth and height are 25cm,


https://dl.doubtnut.com/l/_GXQcVlHBuwax
https://dl.doubtnut.com/l/_IgNVJxwV0gfb

18cm and 15cm respectively. How much cubic cm of
a liquid can be placed in it? Also, find the volume

of the wood used in it.

° Watch Video Solution

21. A metal cube of edge 12cm is melted and
formed into three smaller cubes. If the edges of
the two smaller cubes are 6cm and 8cm, find the

edge of the third smaller cube.

0 Watch Video Solution



https://dl.doubtnut.com/l/_IgNVJxwV0gfb
https://dl.doubtnut.com/l/_4hl8Skx2jGGk

22. If V is the volume of a cuboid of dimensions

a, b, cand$§ is its surface area, then prove that
S 5 1 N 1 N 1
v \a b ¢

0 Watch Video Solution

23. A rectangular  water reservoir s

10. 8m x 3. 7bm at the base. Water flows into it
m : ,

at the rate of 18§ through a pipe having the

cross section 7. 5 cm and 4. 5 cm Find the height

to which the water will rise in the reservoir in 30

minutes

| e |


https://dl.doubtnut.com/l/_WFj4TOIbSupp
https://dl.doubtnut.com/l/_jMwgrt89WONJ

| & Watch Video Solution

24. The external length, breadth and height of a
closed rectangular wooden box are 18cm, 10cm
and 6cm respectively and thickness of wood is 1/2
cm. When the box is empty, it weight 15kg and
when filled with sand it weighs 100kg. Find the
weight of one cubic cm of weed and cubic cm of

sand.

° Watch Video Solution



https://dl.doubtnut.com/l/_jMwgrt89WONJ
https://dl.doubtnut.com/l/_d6CLiJTxskzt

25. A granary is in the shape of a cuboid of size 8m
x6mx3m If a bag of grain occupies a space of
0. 65m°, how many bags can be stored in the

granary?

° Watch Video Solution

26. A rectangular tank is 225 m by 162 m at the
base. With what speed must water flow into it
through and aperture 60cm by 45cm that the level

may be raised 20cm in 5 hours.?

° Watch Video Solution



https://dl.doubtnut.com/l/_7LzdNJ6uHejR
https://dl.doubtnut.com/l/_20tSNRo7qqSC

27. Hameed has built a cubical water tank with lid
for his house, with each outer edge 1.5 m long. He
gets the outer surface of the tank excluding the
base, covered with square tiles of side 25 cm. Find
how much he would spend for the tiles, if the cost

of the tiles is Rs 360 per dozen.

° Watch Video Solution

28. The dimensions of a rectangular box are in the
ratio of 2:3:4 and the difference between the

cost of covering it with sheet of paper at the rates


https://dl.doubtnut.com/l/_20tSNRo7qqSC
https://dl.doubtnut.com/l/_rdSqXDSv66DT
https://dl.doubtnut.com/l/_BvWb0WuI25OW

of Rs.8 and Rs.9.50perm? is Rs.1248. Find the

dimensions of the box.

° Watch Video Solution

29. A plot of land in the form of a rectangle has a
dimension 240m x 180m. A drain 10m wide is dug
all around it (on the outside) and the earth dug
out is evenly spread over the plot, increasing its
surface level by 25cm. Find the depth of the drain

let.

° Watch Video Solution



https://dl.doubtnut.com/l/_BvWb0WuI25OW
https://dl.doubtnut.com/l/_9pMX5RdXRhvq
https://dl.doubtnut.com/l/_82YKss6406IO

30. A metallic sheet is of the rectangular shape
with dimensions 48¢cm x 36cm. From each one of
its corners, a square of 8cm is cutoff. An open box
is made of the remaining sheet. Find the volume

of the box.

o Watch Video Solution

31. In Figure, the shape of a solid copper piece
(made of two pieces with dimensions as shown in

the figure) is shown. The face ABCDEF A is the

uniform cross-section. Assume that the angles at


https://dl.doubtnut.com/l/_82YKss6406IO
https://dl.doubtnut.com/l/_GLEjiGQOZWZv

A, B, C, Dand F are right angles. Calculate

the volume of the piece.

° Watch Video Solution

32. Water flows in a tank 150m - 100m at the base,
through a pipe whose cross-section is 2dm by
1.5dm at the speed of 15 km per hour. In what

time, will the water be 3metres deep?

° Watch Video Solution



https://dl.doubtnut.com/l/_GLEjiGQOZWZv
https://dl.doubtnut.com/l/_39yuViZCEOLu

33. A rectangular reservoir is 120m and 75m wide.
At what speed per hour must water flow into it
through a square pipe of 20cm wide so that the

water rises by 2. 4m in 18 hours?

° Watch Video Solution

34. A rectangular tank measuring
bmzx4.d5m x 2. Im is dug in the centre of the
field measuring 13. 5m x 2. 5m . The earth dug
out is spread evenly over the remaining portion of

the field. How much is the level of the field raised?

| & |


https://dl.doubtnut.com/l/_8CCHqutbqtlX
https://dl.doubtnut.com/l/_Nd2ddkekgefy

| W Watch Video Solution

35. The length of a cold storage is double its
breadth. Its height is 3metres- The area of its four

walls (including doors) is 108m?2. Find its volume.

o Watch Video Solution

36. The cost of papering four walls of a room at
70paise per square metre is Rs.157.50. The
height of the room is 5metres. Find the length
and the breadth of the room if they are in the

ratio 4: 1.


https://dl.doubtnut.com/l/_Nd2ddkekgefy
https://dl.doubtnut.com/l/_tG1Z92Do4DAG
https://dl.doubtnut.com/l/_rVkSPu0Rm1YQ

° Watch Video Solution

37. The dimension of a rectangular box are in the
ratio 2:3:4 and the difference between the cost
of covering it with sheet of paper at the rate of
Rs.4 and Rs.4.50 per square metre is Rs.416.

Find the dimensions of the box.

° Watch Video Solution

38. The length of a hall is 20m and width 16m. The

sum of the areas of the floor and the flat roof is


https://dl.doubtnut.com/l/_rVkSPu0Rm1YQ
https://dl.doubtnut.com/l/_79EdOEGKsuYr
https://dl.doubtnut.com/l/_V3rwOaDRO3gj

equal to the sum of the areas of the four walls.

Find the height and the volume of the hall.

° Watch Video Solution

39. The sum of length, breadth and depth of a
cuboid is 19cm and the length of its diagonal is

11em- Find the surface area of the cuboid.

° Watch Video Solution

40. Find the number of bricks, each measuring

25cm x 12. 5em x 7. bem required to construct a


https://dl.doubtnut.com/l/_V3rwOaDRO3gj
https://dl.doubtnut.com/l/_TieAClooz1W1
https://dl.doubtnut.com/l/_vJydL7S5N4Jx

wall 6 m long, 5 m high and 0. 5 m thick, while the
cement and sand mixture occupies 20 of the

volume of the wall.

° Watch Video Solution

41.The length of a room is one and a half times its
breadth. The cost of carpeting the room at
Rs.3.25 per m? is Rs.175.50 and the cost of
papering the walls at Rs.1.40 per m?is Rs.240.80
. If 1 door and 2 window occupy 8 m?, find the

dimensions of the room.

° Watch Video Solution



https://dl.doubtnut.com/l/_vJydL7S5N4Jx
https://dl.doubtnut.com/l/_kmD8aUMa6cFi

42. Shanti Sweets Stall was placing an order for
making cardboard boxes for packing their sweets.
Two sizes of boxes were required. The bigger of
dimensions

25\ em\ x\ 20\ cm\ x\ bem and the

smaller of dimensions 15"\ "¢ m"\ "xx"\ "

° Watch Video Solution

43. An agricultural field is in the form of a
rectangle of length 20m and width 14m. A pit

6mlong, 3Imwideand2. bmdeep is dug in a corner


https://dl.doubtnut.com/l/_kmD8aUMa6cFi
https://dl.doubtnut.com/l/_AEpnXwyMBxT4
https://dl.doubtnut.com/l/_ThvHHfXHJv3Q

of the field and the earth taken out of the pit is
spread uniformly over the remaining area of the
field. Find the extent to which the level of the field

has been raised.

° Watch Video Solution

44, \Water in a canal , 30 dm wide and 12 dm deep,
is flowing with a velocity of 20 km per hour. How
much area will it irrigate in 30 min , if 9 cm of

standing water is desired?

° Watch Video Solution



https://dl.doubtnut.com/l/_ThvHHfXHJv3Q
https://dl.doubtnut.com/l/_kPybZa7inY9i
https://dl.doubtnut.com/l/_GQSlDoq5lQgK

45. Water in a rectangular reservoir having base
80m by 60m is 6.5m deep. In what time can the
water be emptied by a pipe of which the cross-
section is a square of side 20cm, f the water runs

through the pipe at the rate of 15km/hr.

° Watch Video Solution

46. A cube of 9cm edge is immersed completely in
a rectangular vessel containing water. If the
dimensions of the base are 15¢cmandl2cm. Find

the rise in water level in the vessel.

| 0 waAr_o_L vl _ e~_01._.0°_
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47. Find the surface area of a chalk box whose
length, breadth and height are

16 cm, 8 cm and 6 cm, respectively.

° Watch Video Solution

48. Find the surface area of a cube whose edge is

11 em

° Watch Video Solution



https://dl.doubtnut.com/l/_MpYwjy7OrFjk
https://dl.doubtnut.com/l/_BngBQo5Wy1kI
https://dl.doubtnut.com/l/_bEnccpu6Kk9Z

49, The dimensions of a cuboid are in the ratio of
1:2:3. So, let the dimensions be xz, 2z, 3z in
metres. its total surface area is 88 cm”2. find the

dimensions.

° Watch Video Solution

50. A cubical box has each edge 10cm and another
cuboidal box is 12. 5c¢m long, 10cm wide and

8 cm high. find difference in their volume.

O Watch Video Solution



https://dl.doubtnut.com/l/_14jC9qHbRh67
https://dl.doubtnut.com/l/_mOnhEGqipFKr
https://dl.doubtnut.com/l/_dpFOx5eGgOGH

51. Three cubes each of side 5¢m are joined end to

end. Find the surface area of the resulting cuboid.

° Watch Video Solution

52. A small indoor greenhouse (herbarium) is
made entirely of glass panes (including base) held
together with tape. It is 30 cm long, 25 cm wide
and 25 cm high. (i) What is the area of the glass?
(i) How much of tape is needed for all the 12

edges?

° Watch Video Solution



https://dl.doubtnut.com/l/_dpFOx5eGgOGH
https://dl.doubtnut.com/l/_tJNfUnr7iWDY

53. A plastic box 1. 5m long, 1. 25 m wide and
65 cm deep is to be made. It is to be open at the
top. Ignoring the thickness of the plastic sheet,
determine: The area of the sheet required for
making the box. The cost of sheet for it, if a sheet

measuring 1 m? cost Rs.20

° Watch Video Solution

54. A cuboidal oil tin is 30 cm by 40 cm by 50 cm.

Find the cost of the tin required for making 20


https://dl.doubtnut.com/l/_LMizYkRKFFPh
https://dl.doubtnut.com/l/_O1dPwcpsJehg

such tines if the cost of tin sheet is Rs.20 per

square metre.

° Watch Video Solution

55.Find the area of the four walls of a room whose
length is 6 m, breadth 5m and height 4m . Also
find the cost of white-washing the walls, if the rate
of white washing is Rs. 5 per square meter.

(Doors, Windows and other opening ignored)

0 Watch Video Solution



https://dl.doubtnut.com/l/_O1dPwcpsJehg
https://dl.doubtnut.com/l/_OrQIOWf4Etuh

56. A swimming pools is 20 m in length, 15m in
breadth, and 4 m in depth. Find the cost of
cementing its floor and walls at the rate of

Rs.12 per square metre.

° Watch Video Solution

57. The floor of a rectangular hall has a perimeter
of 250 m. lts height is 6 m. Find the cost of
painting its four walls (including doors, etc.) at the

rate of Rs.6 per square metre.

° Watch Video Solution



https://dl.doubtnut.com/l/_hbcFMI2t7x3W
https://dl.doubtnut.com/l/_C7rIlHjQgQ0E

58. The floor of a rectangular hall has a perimeter
250m . If the cost of painting the four walls at the
rate of 10 per m? is Rs.15000. Find the height of

the hall.

° Watch Video Solution

59. A cuboid has total surface area of the 40 m?
and its lateral surface area is 26 m? . Find the area

of its base.

° Watch Video Solution



https://dl.doubtnut.com/l/_C7rIlHjQgQ0E
https://dl.doubtnut.com/l/_2Orn2PyAsMS7
https://dl.doubtnut.com/l/_XQsBSrrFz0Xb

60. Length of a class room is two times its height
and its breadth is 1% times its height. The cost of
white-washing the walls at the rate of
Rs.1.60 per m? is Rs.179.20. Find the cost of

tiling the floor at the rate of Rs.6.75 per m?

o Watch Video Solution

61. The length of a cold storage is double its
breadth. Its height is 3 metres. The area of its
four walls (including doors) is 108 m?. Find its

volume.

| &
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| W Watch Video Solution

62. The cost of papering four walls of a room at
70 paise per square meter is Rs.157.50. The
height of the room is 5 metres. Find the length
and the breadth of the room if they are in the

ratio 4:1

° Watch Video Solution

63. The dimension of a rectangular box are in the
ratio 2: 3:4 and the difference between the cost

of covering it with sheet of paper at the rate of


https://dl.doubtnut.com/l/_3oQxuAM75ZCb
https://dl.doubtnut.com/l/_1rvfK2uHE3ig
https://dl.doubtnut.com/l/_vfEdW3ARPtUE

Rs.4 and Rs.4.50 per square meter is Rs.416.

Find the dimensions of the box.

° Watch Video Solution

64. The length of a hall is 20 m and width 16 m.
The sum of the area of the floor and the flat roof is
equal to the sum of the areas of the four walls.

Find the height and the volume of the hall.

° Watch Video Solution



https://dl.doubtnut.com/l/_vfEdW3ARPtUE
https://dl.doubtnut.com/l/_rYkDraupverb

65. The sum of length, breadth and depth of a
cuboid is 19ce¢m and length of its diagonal is

11 em- Find the surface area of the cuboid.

° Watch Video Solution

66. Find the number of bricks, each measuring
25cm x 12. 5em x 7. bem required to construct a
wall 6 m long, 5 m high and 0. 5 m thick, while the
cement and sand mixture occupies — of the

20

volume of the wall.

° Watch Video Solution



https://dl.doubtnut.com/l/_AENBFQEYbAAH
https://dl.doubtnut.com/l/_EilygYhbgSl9

67. A class room is
7m long, 6. 5m wide and 4 m high . It has one
door 3mx 1.4m and three windows, each
measuring 2m x 1 m. The interior wall are to be
colour washed. The contractor charge

Rs.5.25 per sgm. Find the cost of colour washing.

° Watch Video Solution

68. The length of a room is one and a half times its
breadth. The cost of carpeting the room at

Rs.3.25 per m? is Rs.175.50 and the cost of


https://dl.doubtnut.com/l/_EilygYhbgSl9
https://dl.doubtnut.com/l/_dC9cwcCoknOf
https://dl.doubtnut.com/l/_bE1CwLtR7VLF

papering the walls at Rs.1.40 per m?*is Rs.240.80
. If 1 door and 2 window occupy 8 m?, find the

dimensions of the room.

° Watch Video Solution

69. Shanti Sweets stall was placing an order for
making card board boxes for packing their sweets.
Two sizes of boxes were required. The bigger of
dimensions 25cm x 20cm x 5¢m and the smaller
of dimensions 15c¢m x 12cm x 5¢m.5 % of the
total surface area is required extra, for all the

overlaps. If the cost of cardboard is Rs.4 for


https://dl.doubtnut.com/l/_bE1CwLtR7VLF
https://dl.doubtnut.com/l/_CQGKHRh96vLW

1000 ¢m?, find the cost of cardboard required for

supplying 250 boxes of each kind.

° Watch Video Solution

70. Find the lateral surface area and total surface
area of a cuboid of length 80cm, breadth 40cm

and height 20cm.

° Watch Video Solution

71. Find the lateral surface area and total surface

area of a cube of edge 10cm.


https://dl.doubtnut.com/l/_CQGKHRh96vLW
https://dl.doubtnut.com/l/_porT5RHzjXqN
https://dl.doubtnut.com/l/_MizNkWNd7Nd4

° Watch Video Solution

72. Find the ratio of the total surface area and

lateral surface area of a cube.

° Watch Video Solution

73. Mary wants to decorate her Christmas tree.
She wants to place the free on a wooden block
covered with coloured paper with picture of Santa
Claus on it. She must know the exact quantity of

paper to buy for this purpose. If the box has


https://dl.doubtnut.com/l/_MizNkWNd7Nd4
https://dl.doubtnut.com/l/_b2dWZ0w0AZWI
https://dl.doubtnut.com/l/_aa0itJXFLDWk

length, breadth and height as 80 cm, 40 cm, and
20 cm respectively. How many square sheets of

paper of side 40 cm would she require?

° Watch Video Solution

74. The length, breadth and height of a room are
5m, 4m and 3m respectively. Find the cost of white
washing the walls of the room and the ceiling at

the rate of Rs-7. 50 m?.

° Watch Video Solution



https://dl.doubtnut.com/l/_aa0itJXFLDWk
https://dl.doubtnut.com/l/_Ge58So3qgEyA

75. Three equal cubes are placed adjacently in a
row. Find the ratio of total surface area of the new
cuboid to that of the sum of the surface areas of

the three cubes.

° Watch Video Solution

76. A 4 em cube is cut into 1 cm cubes. Calculate

the total surface area of all the small cubes.

° Watch Video Solution



https://dl.doubtnut.com/l/_ekemB7jPOlbI
https://dl.doubtnut.com/l/_YuOzNxe62Par

77. The length of a hall is 18m and the width 12m.
The sum of the areas of the floor and the flat roof

is equal to the sum of the areas of the four walls.

Find the height of the hall.

° Watch Video Solution

78. Hameed has built a cubical water tank with lid
for his house, with each other edge 1.5m long. He
gets the outer surface of the tank excluding the

base, covered with square tiles of side 25cm. Find


https://dl.doubtnut.com/l/_GbV5NNwf7GVK
https://dl.doubtnut.com/l/_zy6YJWyptDz5

how much he would spend for the tiles, if the cost

of tiles is Rs. 360 per dozen.

° Watch Video Solution

79. Each edge of a cube is increased by 50%. Find
the percentage increase in the surface area of the

cube.

° Watch Video Solution

80. The dimensions of a rectangular box are in the

ratio 2:3:4 and the difference between the cost of


https://dl.doubtnut.com/l/_zy6YJWyptDz5
https://dl.doubtnut.com/l/_ntjXLa9ZysmB
https://dl.doubtnut.com/l/_03yiQ7cJleNo

covering it with sheet of paper at the rates of Rs. 8

2

and Rs. 9.50 per m” is Rs. 1248. Find the

dimensions of the box.

° Watch Video Solution

81. A closed iron tank 12m long, 9m wide and 4m
deep is to be made. Determine the cost of iron
sheet used at the rate of Rs. 5 per metre sheet,

sheet being 2 metre wide.

0 Watch Video Solution



https://dl.doubtnut.com/l/_03yiQ7cJleNo
https://dl.doubtnut.com/l/_mbvWBNwXm2aO

82. Ravish wanted to make a temporary shelter for
his car by making a box-like structure with
tarpaulin that covers all the four sides and the top
of the car (with the front face as a flap which can
be rolled up). Assuming that the stitching margins
are very small, and therefore negligible, how much
tarpaulin would be required to make the shelter of

height 2.5 metre with base dimension 4m a 3m ?

° Watch Video Solution



https://dl.doubtnut.com/l/_bqamCKsoSItZ

83. An open box is made of wood 3 cm thick. Its
external length, breadth and height are 1.48m,
1.16m and 8.3 dm. Find the cost of painting the

inner surface of Rs. 50 per sq. metre.

° Watch Video Solution

84. The cost of preparing the walls of room 12m
long at the rate of Rs. 1.35 per square metre is RS.
340.20 and the cost of matting the floor at 85
paise per square metre is Rs. 91.80. Find the height

of the room.

| &


https://dl.doubtnut.com/l/_rbDe5Bm12Buf
https://dl.doubtnut.com/l/_DZrGlHIChX4U

| W Watch Video Solution

85. The dimensions of a room are 12.5 m by 9m by
7m. There are 2 doors and 4 windows in the room;
each door measures 25 m by 1.2 m and each
window 1.5m by 1 m. Find the cost of painting the

walls at Rs. 3.50 per square metre.

° Watch Video Solution

86. The length and bredth of a hall are in the ratio
4:3 and its height is 5. bmetres. The cost of

decorating its walls (including doors and


https://dl.doubtnut.com/l/_DZrGlHIChX4U
https://dl.doubtnut.com/l/_Ti3PNu12ZAXe
https://dl.doubtnut.com/l/_LGjkotpGME49

windows) at Rs.6.60persquaremetre is Rs.5082.

Find the length and breadth of the room.

° Watch Video Solution

87. A wooden bookshelf has external dimensions
as follows: Height =10 cm, Depth = 25cm, Breadth =
85 cm (See in Figure). The thickness of the plank is
5 cm everywhere. The external faces are to be
polished and the inner faces are to be painted. If
the rate of polishing is 20 paise per em? and the

rate of painting is 10 paise per cm? . Find the total


https://dl.doubtnut.com/l/_LGjkotpGME49
https://dl.doubtnut.com/l/_ESAVSsho4HAL

expenses required for polishing and painting the

surface of the bookshelf.

° Watch Video Solution

88. The paint in a certain container is sufficient to
paint on area equal to 9. 375 m2. How many bricks
of dimension 22.5cm x 10ecm x 7. 5 em can be

painted out of this container?

o Watch Video Solution



https://dl.doubtnut.com/l/_ESAVSsho4HAL
https://dl.doubtnut.com/l/_Ysu7QrVlSapS

89. A match box measure 4cm x 2. 5cm x 1. 5 ecm
. What will be the volume of a packet containing 12

such boxes?

° Watch Video Solution

90. The volume of a cuboid is 440 em? and the

area of its base is 88 cm? . Find the height.

° Watch Video Solution



https://dl.doubtnut.com/l/_qn1tPvB5fcj1
https://dl.doubtnut.com/l/_Bwa9rxXsP58d

91. The capacity of a cuboidal tank is 50, 000 litres
. Find the breadth of the tank if its length and

depth are respectively 2. 5m and 10m.

° Watch Video Solution

92. The volume of a cube is 1, 000 cm®. Find its

total surface area.

° Watch Video Solution



https://dl.doubtnut.com/l/_TwTm66IItDq1
https://dl.doubtnut.com/l/_r65g28aGqIIQ

93. How many 3 metre cubes can be cut from a

cuboid measuring 18m = 12m x 9m ?

° Watch Video Solution

94. A cub of 9 cm edge is immersed completely in
a rectangular vessel containing water. If the
dimensions of the base are 15¢m and 12¢m.- Find

the rise in water level in the vessel.

° Watch Video Solution



https://dl.doubtnut.com/l/_bjo6h387HMQm
https://dl.doubtnut.com/l/_9WjruE9uPEYA

95. The length of a cold storage is double its
breadth. Its height is 3 metres. The area of its
four walls (including doors) is 108 m?2. Find its

volume.

° Watch Video Solution

96. Three metal cubes whose edges measure
3em, 4em and 5em respectively are melted to
form a single cube. Find its edge. Also, find the

surface area of the new cube.

° Watch Video Solution



https://dl.doubtnut.com/l/_38BmWv8g84Gt
https://dl.doubtnut.com/l/_MV9BpVltGGeZ

97. In Figure, the shape of a solid copper piece
(made of two pieces with dimensions as shown in
the figure) is shown. The face ABCDEF A is the
uniform cross-section. Assume that the angles at
A, B, C, Dand F are right angles. Calculate

the volume of the piece.

° Watch Video Solution

98. A reservoir is in the form of a rectangular
parallelepiped (cuboid). Its length is 20 m. If 18 kl

of water is removed from the reservoir, the water


https://dl.doubtnut.com/l/_MV9BpVltGGeZ
https://dl.doubtnut.com/l/_jv7YKNBNPCt7
https://dl.doubtnut.com/l/_OyIHhohoQZbv

level goes down by 15c¢m.- Find the width of the

reservoir (1 kl =1 m3)

° Watch Video Solution

99. A granary is in the shape of a cuboid of size
8m x 6m x 3m. If a bag of grain occupies a space
of 0. 65 m>, how many bags can be stored in the

granary?

o Watch Video Solution



https://dl.doubtnut.com/l/_OyIHhohoQZbv
https://dl.doubtnut.com/l/_PFtYba1ANrqR

100. A solid cube is cut into two cuboids of equal
volumes. Find the ratio of the total surface area of

the given cube and that of one of the cuboids.

° Watch Video Solution

101. The outer dimensions of a closed wooden box
are 10cm by 8cm by 7ecm- Thickness of the wood is
lem- Find the total cost of wood required to make

box if 1 em? of wood costs Rs 2. 00

O Watch Video Solution



https://dl.doubtnut.com/l/_U7sHt1TY05KL
https://dl.doubtnut.com/l/_PrxCJBuGbdaP
https://dl.doubtnut.com/l/_skGr3iQ5IQQH

102. A solid cube of side 12¢m is cut into 8 cubes
of equal volume. What will be the side of the new
cube? Also, find the ratio between their surface

areas.

o Watch Video Solution

103. A plot of land in the form of a rectangle has a
dimension 240m x 180m . A drainlet 10m wide is
dug all around it (on the outside) and the earth
dug out is evenly spread over the plot, increasing
its surface level by 25 cm. Find the depth of the

drainlet.


https://dl.doubtnut.com/l/_skGr3iQ5IQQH
https://dl.doubtnut.com/l/_CRwYCO8VlXlB

° Watch Video Solution

104. A metallic sheet is of the rectangular shape
with dimensions 48cm x 36cm. From each one of
its corners, a square of 8cm is cut off. An open box
is made of the remaining sheet. Find the volume

of the box.

° Watch Video Solution

105. How many planks each of which is 2m long,

2. 5 em broad and 4em thick can be cut-off from a


https://dl.doubtnut.com/l/_CRwYCO8VlXlB
https://dl.doubtnut.com/l/_6vXlCf3CAZ65
https://dl.doubtnut.com/l/_NWWVAtpsKVnM

wooden block 6m long, 15 ¢cm broad and 40cm

thick?

° Watch Video Solution

106. An agricultural field is in the form of a
rectangle of length 20m and width 14 m. A pit
6m long, 3m wide and 2. 5m deep is dug in a
corner of the field and the earth taken out of the
pit is spread uniformly over the remaining area of
the field. Find the extent to which the level of the

field has been raised.

° Watch Video Solution



https://dl.doubtnut.com/l/_NWWVAtpsKVnM
https://dl.doubtnut.com/l/_T0o47PLIhRmD

107. A teak wood log is cut first in the form of a

cuboid of length 2. 5m, width 0. 75 m and of a

3, How

certain thickness. Its volume is 1.104 m
many rectangular planks of size

2.3mx0.75m x 0.04m can be cut from the

cuboid?

° Watch Video Solution

108. Water in a canal,
30 dm wide and 12dm deep, is flowing with a

velocity of 20km per hour- How many area will it


https://dl.doubtnut.com/l/_T0o47PLIhRmD
https://dl.doubtnut.com/l/_2kd7OuZCE9SY
https://dl.doubtnut.com/l/_3VDfks4b2KG6

irrigate in 30min, if 9¢c¢m of standing water is

desired?

° Watch Video Solution

109. A rectangular reservoir is 120m long and
75 m wide. At what speed per hour must water
flow into it through a square pipe of 20cm wide so

that the water rises by 2. 4 m € 18 hours.

o Watch Video Solution



https://dl.doubtnut.com/l/_3VDfks4b2KG6
https://dl.doubtnut.com/l/_DxOvPAbN8vaO

110. A rectangular tank measuring
bmax4.5m x 2. Im is dug in the centre of the
field measuring 13. 5m z 2. 5m . The earth dug
out is spread evenly over the remaining portion of

the field. How much is the level of the field raised?

o Watch Video Solution

M. A rectangular water reservoir s
10. 8mby3. 75m at the base. Water flows into it at
the rate of 18mper second through a pipe having

the cross section 7. 5emx4. 5em- Find the height


https://dl.doubtnut.com/l/_Omd0ToXeJNQx
https://dl.doubtnut.com/l/_Ra9n0lwO3fWq

to which the water will rise in the reservoir in

30m € utes.

° Watch Video Solution

12. Water flows in a tank 150m z 100m at the
base, through a pipe whose cross-section is
2dm by 1. bdm at the speed f 15 km per hour . In

what time, will the water be 3 metres deep?

o Watch Video Solution



https://dl.doubtnut.com/l/_Ra9n0lwO3fWq
https://dl.doubtnut.com/l/_DDdybIIabfla

113. A rectangular tank is 225m by 162m at the
base. With what speed must water flow into it
through and aperture 60cm by 45¢cm that the

level may be raised 20cm in 5 hours?

° Watch Video Solution

114. The external length, breadth and height of a
closed rectangular wooden box are 18cm, 10cm
and 6cm respectively and thickness of wood is
lcm- When the box is empty, it weight 15kg and

2
when filled with sand it weighs 100kg. Find the


https://dl.doubtnut.com/l/_1UFYz9lbAerB
https://dl.doubtnut.com/l/_vjvPzxn5cj2B

weight of one cubic cm of weed and cubic cm of

sand.

° Watch Video Solution

115. A cuboidal water tank is 6m long, 5m wide and

4.5m deep. How many litres of water can it hold?

° Watch Video Solution

116. A cubical vessel is 10m long and 8m wide. How
high must it be made to hold 380 cubic metres of

a liquid?


https://dl.doubtnut.com/l/_vjvPzxn5cj2B
https://dl.doubtnut.com/l/_z7QSGEkgOWZO
https://dl.doubtnut.com/l/_eu3YR7CfOVIO

° Watch Video Solution

117. Find the cost of digging a cuboidal pit 8m

long, 6m broad and 3m deep at the rate of

Rs-30 per m?

° Watch Video Solution

118. If V is the volume of a cuboid of dimensions

a, b, cand S is its surface area, then prove that
1 2/1 N 1 N 1
Vv S\e b ¢

o Watch Video Solution



https://dl.doubtnut.com/l/_eu3YR7CfOVIO
https://dl.doubtnut.com/l/_f1a7hzMsnHms
https://dl.doubtnut.com/l/_hPuEkUl9KYWx

119. The areas of three adjacent faces of a cuboid
are x, yand z- If the volume is V, prove that

V= xYz-

° Watch Video Solution

120. If the areas of three adjacent faces of a cuboid
are 8 cm?, 18cm?and 25¢m?. Find the volume of

the cuboid.

o Watch Video Solution



https://dl.doubtnut.com/l/_hPuEkUl9KYWx
https://dl.doubtnut.com/l/_q7qwcDcN35EK
https://dl.doubtnut.com/l/_XNJhLjRmgr5G
https://dl.doubtnut.com/l/_dgDV9gsRhN6v

121. The breadth of a room is twice its height, one
half of its length and the volume of the room is

512 cu m Find the dimensions.

° Watch Video Solution

122. A river 3 m deep and 40 m wide is flowing at
the rate of 2 km per hour. How much water will fall

into the sea in a minute?

° Watch Video Solution



https://dl.doubtnut.com/l/_dgDV9gsRhN6v
https://dl.doubtnut.com/l/_p48XAsGPbu9I

123. Water in a canal, 30dmwide and 12dmdeep
is flowing with a velocity of 20kmperhour. How
much area will it irrigate in 30 min , if 9cm of

standing water is desired?

° Watch Video Solution

124. Three metal cubes with edges 6cm, 8cm and
10cm respectively are melted together and formed
into a single cube. Find the volume, surface area

and diagonal of the new cube.

° Watch Video Solution



https://dl.doubtnut.com/l/_6hxnNktbSGov
https://dl.doubtnut.com/l/_NNGWFmVVFKuH

125. Half cubic metre of gold-sheet is extended by
hammering so as to cover an area of 1 hectare.

Find the thickness of the gold-sheet.

O Watch Video Solution

126. A metal cube of edge 12cm is melted and
formed into three smaller cubes. If the edges of
the two smaller cubes are 6cm and 8cm, find the

edge of the third smaller cube.

° Watch Video Solution



https://dl.doubtnut.com/l/_NNGWFmVVFKuH
https://dl.doubtnut.com/l/_eHTUKLYF9OnE
https://dl.doubtnut.com/l/_7pUqItLSPmxr

127. The dimensions of a cinema hall are 100m,
50m and 18m. How many persons can sit in the

hall, if each person requires 150m? of air?

° Watch Video Solution

128. Given that 1 cubic cm of marble weighs 0.25
kg, the weight of marble block 28cm in width and

5cm thick is 112kg. Find the length of the block.

° Watch Video Solution



https://dl.doubtnut.com/l/_JpDHndyoFzsi
https://dl.doubtnut.com/l/_NrIqazyMLSCr

129. A box with lid is made of 2cm thick wood. Its
external length, breadth and height are 25cm,
18cm and 15cm respectively. How many cubic cm of
a liquid can be placed in it? Also, find the volume

of the wood used in it.

o Watch Video Solution

130. The external dimensions of a closed wooden
box are 48cm, 36cm, 30cm. The box is made of
1.5cm thick wood. How many bricks of size

6cm x 3cm x 0. 75¢m can be put in this box?

| &


https://dl.doubtnut.com/l/_laGk423Uzlst
https://dl.doubtnut.com/l/_ssuaC3GCNqyZ

| W Watch Video Solution

131. How many cubic centimetres of iron are there
in an open box whose external dimensions are
36cm, 25cm and 16.5cm, the iron being 1.5cm thick
throughout? If 1 cubic cm of iron weighs 15g, find

the weight of the empty box in kg.

° Watch Video Solution

132. A cub of 9 cm edge is immersed completely in

a rectangular vessel containing water. If the


https://dl.doubtnut.com/l/_ssuaC3GCNqyZ
https://dl.doubtnut.com/l/_ApE3YMFz23js
https://dl.doubtnut.com/l/_sm4ypzZs7TLs

dimensions of the base are 15¢m and 12¢m- Find

the rise in water level in the vessel.

° Watch Video Solution

133. A rectangular container, whose base is a
square of side 5cm, stands on a horizontal table,
and holds water upto 1cm from the top. When a
cube is placed in the water it is completely
submerged, the water rises to the top and 2 cubic
cm of water overflows. Calculate the volume of the

cube and also the length of its edge.

° Watch Video Solution



https://dl.doubtnut.com/l/_sm4ypzZs7TLs
https://dl.doubtnut.com/l/_Gba3TgnheGK2

134. A field is 200m long and 150m broad. There is
a plot, 50m long and 40m broad, near the field.
The plot is dug 7m deep and the earth taken out is
spread evenly on the field. By how many metres is
the level of the field raised? Give the answer to

the second place of decimal.

0 Watch Video Solution

135. A field is in the form of a rectangle of length
18m and width 15m. A pit, 7.5m long, 6m broad and

0.8m deep, is dug in a corner of the field and the


https://dl.doubtnut.com/l/_Gba3TgnheGK2
https://dl.doubtnut.com/l/_E4iUJZUD4zBo
https://dl.doubtnut.com/l/_0WQhPBogoQIC

earth taken out is spread over the remaining area
of the field. Find cut the extent to which the level

of the field has been raised.

° Watch Video Solution

136. A rectangular tank is 80m long and 25m
broad. Water flows into it through a pipe whose
cross-section is 25c¢m?, at the rate of 16km per
hour. How much the level of the water rises in the

tank in 45 minutes.

° Watch Video Solution



https://dl.doubtnut.com/l/_0WQhPBogoQIC
https://dl.doubtnut.com/l/_aqYeAWmLtKgh
https://dl.doubtnut.com/l/_VJNgCCSdWdNh

137. Water in a rectangular reservoir having base
80m by 60m is 6.5m deep. In what time can the
water be emptied by a pipe of which the cross-
section is a square of side 20cm, f the water runs

through the pipe at the rate of 15km/hr.

° Watch Video Solution

138. A village, having a population of 4000,
requires 150 litres of water per head per day. It has
a tank measuring 20m X 15m x 6m. For how

many days will the water of this tank last?

| O waAr_o_L vl _ e~_1._.0°_


https://dl.doubtnut.com/l/_VJNgCCSdWdNh
https://dl.doubtnut.com/l/_n3DDPTPhTxz5
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139. A child playing with building blocks, which are
of the shape of cubes, has built a structure as
shown in Fig. 13.25. If the edge of each cube is 3
cm, find the volume of the structure built by the

child.

0 Watch Video Solution

140. A godown measures 40m x 25m X 10m .

Find the maximum number of wooden crates each


https://dl.doubtnut.com/l/_n3DDPTPhTxz5
https://dl.doubtnut.com/l/_HIticikDXzhL
https://dl.doubtnut.com/l/_ADCRAYCpzt0M

measuring 1.bm X 1.25m x 0.5m that can be

stored in the godown.

° Watch Video Solution

141. A wall of length 10 m was to be built across an
open ground. The height of the wall is 4 m and
thickness of the wall is 24 cm. If this wall is to be
built up with bricks whose dimensions are
2decm x 12em X 8 em, how many bricks would

be required?

° Watch Video Solution



https://dl.doubtnut.com/l/_ADCRAYCpzt0M
https://dl.doubtnut.com/l/_3oisAtcrw0nA
https://dl.doubtnut.com/l/_LfTVmtTmJatj

142. If two cubes each of side 6cm are joined face
to face, then find the volume of the resulting

cuboid.

° Watch Video Solution

143. Three cubes of metal whose edges are in the
ratio 3:4:5 are melted down into a single cube
whose diagonal is 12,/3 cm . Find the edges of

three cubes.

° Watch Video Solution



https://dl.doubtnut.com/l/_LfTVmtTmJatj
https://dl.doubtnut.com/l/_i2CNMcmcUs5O
https://dl.doubtnut.com/l/_m0zTXHvBUdyx

144.Find the edge of a cube whose surface area is

432 m?

° Watch Video Solution

145. A cuboid has total surface area of 372 cm?

and its lateral surface area is 180 cm?, find the

area of its base.

° Watch Video Solution

146. Three cubes of each side 4cm are joined end

to end. Find the surface area of the resulting


https://dl.doubtnut.com/l/_m0zTXHvBUdyx
https://dl.doubtnut.com/l/_zWpIb3dn8Z5q
https://dl.doubtnut.com/l/_am9oZTChXk66

cuboid.

° Watch Video Solution

147. The surface area of a cuboid is 1300 cm?. If its
breadth is 10cm and height is 20 cm , find its

length.

° Watch Video Solution

148. If A;, Asand A3 denote the areas of three

adjacent faces of a cuboid, then its volume is


https://dl.doubtnut.com/l/_am9oZTChXk66
https://dl.doubtnut.com/l/_lR9ATfUzoX9P
https://dl.doubtnut.com/l/_9VslnIfZvKP7

(a)A1A2 A3 (b) 2A1A2A3 (C)\/Al A2A3 (d)

A Ay A,

° Watch Video Solution

149. The length of the longest rod that can be

fitted in a cubical vessel of edge 10cm long, is (a)

10 em (b) 10 \/ﬁ cm (c) 10 \/§ cm (d) 20 em

° Watch Video Solution

150. If [ is the length of a diagonal of a cube of

volume V, then (a) 3V =1 (b) V3V = B (c)


https://dl.doubtnut.com/l/_9VslnIfZvKP7
https://dl.doubtnut.com/l/_jQxAnGeV5Xpg
https://dl.doubtnut.com/l/_W7IYkVMEnRLD

33V =2°(d)3,/3V =1

° Watch Video Solution

151. Three equal cubes are placed adjacently in a
row. The ratio of the total surface area of the
resulting cuboid to that of the sum of the surface
areas of three cubes, is (a) 7:9 (b) 49:81

(c) 9:7 (d) 27:23

0 Watch Video Solution



https://dl.doubtnut.com/l/_W7IYkVMEnRLD
https://dl.doubtnut.com/l/_Luz2ZvzDDepL

152. If V is the volume of a cuboid of dimensions

x, Yy, zand A is its surface area, then — (a)

V

9 9 9 1/ 1 1 1
Ty 2 (b) = + + (c)
2\ zy Yz ZT

1/1 1 1 1
—(—+—+—)<d>—
2\ x Y z TYZ

° Watch Video Solution

153. The sum of the length, breadth and depth of a
cuboid is 19cm and its diagonal is 5./5cm. Its
surface area is: (a) 361cm? (b) 124 em? (o)

236 cm? (d) 486 cm?

° Watch Video Solution



https://dl.doubtnut.com/l/_zbigdgXkwyI0
https://dl.doubtnut.com/l/_8BrqHNYO730l

154. If the length of a diagonal of a cube is
84/3 cm, then its surface area is (a) 512 em? (b)

384 cm? (c) 192 em? (d) 768 cm?

° Watch Video Solution

155. If each edge of a cube is increased by 50%, the
percentage increase in its surface area is

50% (b) 75% (c) 100% (d) 125%

° Watch Video Solution



https://dl.doubtnut.com/l/_8BrqHNYO730l
https://dl.doubtnut.com/l/_tdWym2Umn3DC
https://dl.doubtnut.com/l/_ifPc9Fn6jVZH
https://dl.doubtnut.com/l/_Sl5XmW1wo7Sh

156. If the volumes of two cubes are in the ratio
8:1, then the ratio of their edges is (a) 8:1 (b)

24/3:1(c) 2:1(d) none of these

° Watch Video Solution

157. The volume of a cube whose surface area is
96 cm?, is (a) 164/2 em?® (b) 32 em? (c) 64 em?® (d)

216 cm?

° Watch Video Solution



https://dl.doubtnut.com/l/_Sl5XmW1wo7Sh
https://dl.doubtnut.com/l/_nHfNdYIQLBvO

158. The length, width and height of a rectangular
solid are in the ratio of 3:2:1. If the volume of the
box is 48 em?®, the total surface area of the box is:

(a) 27 em? (b) 32 ecm? (¢) 44 cm? (d) 88 cm?

° Watch Video Solution

159. A cube whose volume is 1/8 cubic centimetre
is placed on top of a cube whose volume is 1 em?®.

The two cubes are then placed on top of a third

cube whose volume is 8 cm?®. The height of the


https://dl.doubtnut.com/l/_Z2OReEWmWrFx
https://dl.doubtnut.com/l/_M3KGwaCpVUmI

stacked cubes is (a) 3.5 cm (b) 3 cm (c) 7 cm (d)

none of them

° Watch Video Solution

160. If the areas of the adjacent faces of a
rectangular block are in the ratio 2:3:4 and its
volume is 9000 cm?, then the length of the
shortest edge is (a) 30 cm (b) 20 cm (c) 15 cm (d)

10 cm

0 Watch Video Solution



https://dl.doubtnut.com/l/_M3KGwaCpVUmI
https://dl.doubtnut.com/l/_QYIf6aHA8YGE

161. If each edge of a cube, of volume V, is
doubled, then the volume of the new cube is (a) 2

V(b)4V(c)eV(d)8V

° Watch Video Solution

162. If each edge of a cuboid of surface area S is
doubled, then surface area of the new cuboid is (a)

2S(b)4S(c)6S(d)8S

° Watch Video Solution



https://dl.doubtnut.com/l/_7DM0yAyC5pPt
https://dl.doubtnut.com/l/_D4Rgksh5OIRL

163. The area of the floor of a room is 15 m?. If its
height is 4 m, then the volume of the air
contained in the room is (a) 60 dm?> (b) 600 dm?

6000 dm? (d) 60000 dm?

° Watch Video Solution

164. The cost of constructing a wall 8 m long, 4 m
high and 20 cm thick at the rate of 50Rs per m® is

Rs. 16 (b) Rs. 80 (c) Rs. 160 (d) Rs. 320

O Watch Video Solution



https://dl.doubtnut.com/l/_ySMn5oqfvf9W
https://dl.doubtnut.com/l/_ZkuCWcZXeIba
https://dl.doubtnut.com/l/_C5F2anuqWMDN

165. 10 cubic metres clay is uniformly spread on a
land of area 10 ares. The rise in the level of the
ground is (a) 1 cm (b) 10 cm (c) 100

cm  (d) 1000 cm

° Watch Video Solution

166. Volume of a cuboid is 12 em?3. The volume
(cm3) of a cuboid whose sides are double of the

above cuboid is: (a) 24 (b) 48 (c) 72 (d) 96

° Watch Video Solution



https://dl.doubtnut.com/l/_C5F2anuqWMDN
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167. If the sum of all the edges of a cube is 36 cm,
then the volume (in cm3) of that cube is (a) 9 (b)

27 (c) 219 (d) 729

0 Watch Video Solution

168. The humber of cubes of side 3 cm that can be
cut from a cuboid of dimensions

10cm x 9em x 6em, is (a) 9 (b) 10 (c) 18 (d) 20

0 Watch Video Solution
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